Guide For Examinees m Inter-University Psychometric Entrance Test

PRACTICE TEST N5E

The following is a Combined/English version Psychometric Test which you can use for practice, and
thus obtain an estimate of your performance on the actual test.

Try to solve the test questions under conditions which are as similar as possible to those which you
will encounter during the actual test. Keep within the time limits.

There is an answer sheet on p. 239. Print it out and mark your answers on it.

In the actual test, selected words might be translated into languages which differ from those appearing
in the Practice Test. The list of languages for the actual test appears in the Registration Procedures.
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Verbal Reasoning - Writing Task

The time allotted is 35 minutes.

Carefully read the writing task that appears in the box below and write your essay on the essay answer sheet.
The essay should be at least 25 lines long, and must be written within the lines on the answer sheet. If you
wish to make a rough draft, use the page provided. (The draft will not be graded.) You will not receive an

additional answer sheet, nor will you be allowed to replace the one you have.

Write the essay in one of the following languages: Hebrew, English, Russian, German, Ambharic, Italian,

Hungarian, Portuguese or Dutch.

Use a style appropriate for academic writing. Make sure your essay is well organized and written in clear,

grammatically correct language.

Write the essay in pencil only and make sure your handwriting is legible and neat. You may use an eraser.

people and society?

In school history lessons we learn about events and processes that took place in the past, and about their
causes and effects. In most countries, history is one of the main subjects taught in schools.

Why is it important to teach history? How, in your opinion, does learning history contribute to

1925 DNN VAPHY 1Y 97D DX 1290 HN
Do not turn the page until you are

instructed to do so!
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Section 1: Quantitative Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of questions and problems involving Quantitative Reasoning. Each question is followed by four
possible responses. Choose the correct answer and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages at the bottom of each page.

General Comments about the Quantitative Reasoning Section

* The figures accompanying some of the problems are provided to help solve the problems, but are not necessarily drawn
to scale. Therefore, do not rely on the figures alone to deduce line length, angle size, and so forth.

* If aline in a figure appears to be straight, you may assume that it is in fact a straight line.

* When a geometric term (side, radius, area, volume, etc.) appears in a problem, it refers to a term whose value is greater

than 0, unless stated otherwise.

* When va (a > 0) appears in a problem, it refers to the positive root of a.

* "0" is neither a positive nor a negative number.
* "0" is an even number.
* "1" is not a prime number.

Formulas

1. Percentages: a% of X is equal to ﬁ X

2. Exponents: For every a that does not equal 0, and for
any two integers n and m -

1

a. a= -
b am +n — am . an
n

c. am=("a) (0<a,0<m)
d a"™m- (an)m

3. Contracted Multiplication Formulas:
(a+b)’=a’+2ab + b’
(@a+b)a-b)=a%-b?

distance

4. Distance Problems: = speed (rate)

5. Work Problems: amount of work

time = output (rate)

6. Factorials:n!=n(n-1)(n-2)-...-2

7. Proportions: If AD||BEI|ICF

AB_BC , , AB _DE

then 5F = F¢ and 55 =pF

8. Triangles:

a. The area of a triangle with base of
length a and altitude to the base of
length h is aTh

b. Pythagorean Theorem:

In any right triangle ABC, as in the
figure, the following always holds
true: AC?=AB? + BC?

c. In any right triangle whose angles measure

30°, 60°, 90°, the length of the leg opposite
the 30° angle is equal to half the length of

the hypotenuse.
b
1]

-1
A D
B E
C E
a
A
&,
1 00’%
eg s,
B C
leg

9. The area of a rectangle of length a
and widthbisa-b

10.

11.

12.

13.

14.

15.

16.

The area of a trapezoid with one
base length a, the other base length b,
and altitude h is %

AR

«~a—>

The sum of the internal angles of an n-sided
polygon is (180n — 360) degrees. In a regular
n-sided polygon, each internal angle measures

(M) = <180 — 3‘%0) degrees.

Circle:

a. The area of a circle with radius r
ismrl(m=3.14...) w’

b. The circumference of a circle is 2mr

c. The area of a sector of a circle with a
central angle of X° is - %

Box (Rect lar Prism), Cube:
ox (Rectangular Prism), Cube

a. The volume of a box of length a, -c
width b and heightcisa-b-c a

b. The surface area of the box is
2ab + 2bc + 2ac

RN

c. Inacube,a=b=c

Cylinder:

a. The lateral surface area of a cylinder with —3
base radius r and height h is 27tr - h

b. The surface area of the cylinder is
21r? + 27r - h = 27r(r + h)

c. The volume of the cylinder is 7tr 2. h

<« 55—

The volume of a cone with base radius r
nr-h
3
The volume of a pyramid with base a8

area S and height h is %

and height h is
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Graph Comprehension (Questions 1-4)

The graph below is followed by four questions. Study the graph, then answer the questions.

The graph below depicts the relationship between the number of hours a day that two species of birds spend
searching for food (the horizontal axis) and their body weight (the vertical axis). The graph shows three
ellipses for each of the two species of birds. The number on the circumference of each ellipse represents the
percentage of all birds of that species for which the point indicating the number of hours they search for food
and their weight falls within the ellipse or on its circumference.

For example, there cannot be any birds of species B that search for food 4.5 hours a day and weigh 0.5 kg, but
there could be birds that search for food 4.5 hours a day and weigh 1.5 kg.

Body weight
(in kg)

5 4
4.5 4

L N T Number of hours a day
—t—+—+—+—+—+—Tt—+—+> a bird spends searching
for food

Note: In answering each question, disregard the information appearing in the other questions.

English Pycckmnit Portugués Deutsch Italiano
species BHJIbI espécies Vogelarten speci
horizontal axis FOpU30HTaJIbHASA OCb | €ixo horizontal x-Achse ascisse
vertical axis BEpTUKAJIbHASA OCh eixo vertical y-Achse ordinate
ellipses 3JTUIICBI elipses Ellipse ellissi
circumference IIEPUMETP perimetro Umfang circonferenza
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Questions
1. What is the maximum body weight (in kg) that a bird of species A can reach?
(1) 2.5
(2) 35
3) 3.75
4) 45
2. A disease attacked the trees on which birds of species A feed. As a result, they spent a greater number
of hours searching for food, and their weight decreased.
In which direction will the ellipses representing species A move?
(1) down and to the right
(2) down and to the left
(3) up and to the right
(4) up and to the left
3. Which of the following statements is true, based on the graph?
(1) There are more birds of species A than of species B.
(2) There are more birds of species B than of species A.
(3) There is an equal number of birds of species A and of species B.
(4) Ttis impossible to determine the ratio between the number of birds of species A and
species B from the graph.
4. Larry observed a 3 kg bird that spent 1.5 hours a day searching for food.
Assuming that there are only two species of birds, species A and species B, what is the probability that
that bird belongs to species A?
1 1
(2) 0.7
3) 0.6
4 04
English Pyccknit Portugués Deutsch Italiano
decreased | yMEHBIINICH diminuiu nahm ab ¢ diminuito
ratio OTHOILIEHKE proporg¢ao Verhiltnis rapporto/proporzione
probability | BEpOSTHOCTB probabilidade Wahrscheinlichkeit probabilita
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Questions and Problems (Questions 5-20)

S. A certain book has a standard number of lines on each page. There are 5 lines on

How many lines are there on 6 pages?

(1) 120
(2) 150
(3) 180
4) 210

1

6 of a page.

6. The average of a, 2a and xis3a (a =0).

X=7

() a
(2) 7a
(3) 3a
(4) 6a

7. Given: X = (34)2 .37

English

Pycckuit

Portugués

Deutsch

Italiano

average

cpenHee

média

Durchschnitt

media
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The accompanying figure shows a triangle whose vertex lies on a straight line.

In order to determine the size of all of the angles in the figure, it is sufficient to know the size of three
angles. Which three angles are they?

(1) <1,<42,<3
Q) <1,<42,<4

3) «1,<«4,45

(4) None of the above

A candy making machine produces 10 candies per second when operating at full capacity, and 1 candy
per second when operating at partial capacity. It is known that the machine operated for 120 seconds,
of which the number of seconds that the machine operated at full capacity was 3 times the number of
seconds that it operated at partial capacity.

How many candies all together did the machine produce in 120 seconds?

(1) 1,200
(2) 930
(3) 840
4) 620
English Pycckmnit Portugués Deutsch Italiano
triangle TPEYTONBHUK tridngulo Dreieck triangolo
vertex BEpILIUHA vértice Ecke vertice
angles YIVIBI angulos Winkel angoli
capacity MOIIIHOCTD capacidade Leistung rendimento pieno
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10. ABC and DEF are congruent isosceles triangles.
EB=BD =DC.

Based on this information and the information in the figure,

what is the area of rectangle AHFG (in cm?)?

A G C
- | /
(1 8 V2 4 cm 5
2) 12 B
(3) 14 E H F
4) 16
11. 0<(x-y)’
Which of the following inequalities is necessarily true?
() 0<x
(2) y<x
3) 0<x+y
@ y<0
12. A and B are letters representing digits between 1 and 9.
The sum of the numbers AAA and BBB is a four-digit number.
What cannot be the product of A - B ?
(1) 10
2) 16
3) 21
4) 30
English Pycckuit Portugués Deutsch Italiano
congruent KOHIPYJHTHRIC anl ngulos deckungsgleiche triangoli isoscele
isosceles paBHOOE/IPEHHBIE isésceles e . . .
. gleichschenklige congruenti
triangles TPEYrONbHUKH congruentes
area IIomanb area Fliche area
rectangle IPSMOYTOJIbHUK retangulo Rechteck rettangolo
representing COOTBETCTBYIOT representam stehen fiir rappresentanti
digits G algarismos Ziffern cifre
sum cymMMma soma Summe somma
product NIPON3BENICHAE multiplicacio Produkt prodotto
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13.  There are 42 students in a class. Of these students, 20 play the violin and 20 play the piano. It is
known that % of the students who play the violin also play the piano. The rest of the students in the
class do not play an instrument.
How many students in the class do not play an instrument?
1 5
2 2
3) 11
4 17
14. Given: x+y+z=a
X+2y+3z=Db
X-z="?
(1) a+b
(2) 3b-a
3) 2b+a
4) 2a-b
15. Two cones with a base radius of r are joined together. The altitudes of the cones are h and 3h. The
cone with altitude h is inscribed in a cylinder whose base is identical to the base of the cone (see
figure).
sum of volumes of the two cones _ o
volume of cylinder
r )
1 1
3h
2 2
3
3 5 /
4
@ 3
English Pycckmii Portugués Deutsch Italiano
cones KOHYCBI cones Kegel coni
base OCHOBaHME base Grundflidche base
radius paguyc raio Halbmesser raggio
altitudes BBICOTBI alturas Hohen altezze
inscribed BIIMCaH estd contido eingeschrieben inscritto
cylinder LYIIAH/D cilindro Zylinder cilindro
volume 00BeM volume Inhalt volumi
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16. Given: aand b are integers.
(a+1)(2b+a) is necessarily -
(1) positive
(2) even
(3) notO
(4) divisible by a
17. Danny asked Sheila and Edith whether they would like to go to dinner with him. The probability
that Sheila will say yes is %0 The probability that Sheila will say yes and that Edith will also say
yes is % Sheila and Edith’s answers are independent of each other.
What is the probability that Edith will say yes?
1
M 35
1
2) 5
3
A 3
2
) 3
English Pycckmii Portugués Deutsch Italiano
even YETHOE par gerade pari
divisible by JETUTCS HA divisivel por teilbar durch divisibile in-
probability BEPOSATHOCTD probabilidade Wahrscheinlichkeit | probabilita
independent HE 3aBUCST independentes unabhiingig indipendenti
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18. ABCD is a rhombus constructed from two congruent parallelograms AEFD and EBCF (see figure).
Based on this information,

the perimeter of parallelogram AEFD 0 A
the perimeter of rhombus ABCD E
4
m 3 B D
1
@ 5 F
2
3 5
3 C
3
@ 3
19. Benjy and Sheila each received a 20% raise in salary.
Sheila's salary after the raise was 2,880 shekels.
Benjy's salary after the raise was equal to Sheila's salary before the raise.
What was Benjy's salary before the raise (in shekels)?
(1) 1,728
(2) 2,000
(3) 2,050
4) 2,300
English Pycckmii Portugués Deutsch Italiano
rhombus poMO losango Raute rombo
congruent KOHTPYSHTHBIE congruentes deckungsgleich | congruenti
parallelograms napaiienorpaMMmbl paralelogramos Parallelogramme | parallelogrammi
perimeter [epUMeTp perimetro Umfang perimetro
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(0070 w1y EBCF-y AEFD masn nv9apn snwn a0mmnmn pwvn xon ABCD .18
JON DN 09 DY

A AEFD m>apnn 92 0
ABCD ywnn 990
E
% (1)
B D
Lo
F
2
3 (3)
C
3
4 (4)
.onMwna 20% Sv NxOYN TN 93 9P nowyma .19

.Dpw 2,880 Non INOYNN ANRD 1OV DY NNNOWN

NOYNN 2395 NOW DY NNMOWND INY INDYNN ANRY 21 DY INMIWN

(DOPWI) IROYNN 2299 )2 HY INNIWN NN N

1,728 (1)

2,000 (2)

2,050 (3)

2,300 (4
Magyar Nederlands | Lo A 93y
rombusz ruit 11 A 11 het PN
megegyezo congruent Ahn £i- maain
paralelogramma parallellogrammen T2e 11 AT n»o7IpPNn
keriilet omtrek FLoHC an
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20

In the accompanying figure, lines a and b intersect a circle whose center is O and whose radius is 2 cm.
Line b passes through point O, and line a does not pass through point O.

Based on this information and the information in the figure,
which of the following statements must be true for X?

a Xcm
(1) x<2.5
¢ C;’SCm
2) 3<x
3) 15<x
b
4 x<1.5

1995 ANMN DAPHY 1Y 971D AN PN HN

Do not turn the page until you are
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X<25 (1)

3<x (2)

1.5<x (3

b xX<l15 @
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Section 2: Verbal Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of several types of questions: analogies, sentence completions, logic and reading
comprehension. Each question is followed by four possible responses. Choose the one which best answers
the question and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages
at the bottom of the page.

Analogies (Questions 1-5)

Each of the following questions contains a pair of words in bold type. Find the relationship between the
meanings of these two words, and then choose from among the possible responses the one in which the
relationship between the two words is most similar to the relationship you have found.

Note: The order of the words in each pair is significant.

1. measurable : to measure -

(1) necessary : to forego
(2) low : toraise

(3) active : to act

(4) tangible : to feel

2. mosquito net : to be bitten -

(1) stair : to climb

(2) railing : to fall

(3) doorknob : to enter
(4) shutter : to close

English Pycckuit Portugués Deutsch Italiano
to forego OTKAa3bIBaThCA abrir mao, ceder | verzichten rinunciare
tangible OL[YTUMBII tangivel fiihlbar tangibile
to be bitten ObLI yXKaleH foi picado gestochen werden | esser punto
railing nepuia parapeito Gelédnder ringhiera
shutter CTaBHS persiana Jalousie serranda
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Magyar Nederlands ATICT 93y
lemondani vmrol afstand doen van oot @- >
erzekelhetod voelbaar Tan0 WNN
megcsiptek gestoken worden 1 7ed. \pw)
korlat hek, omheining an @14, 9 npyn
redony luik (raam) anp\f N

20 0N to the next page Nan TMY5 15°unNH #



- 162 -

(N5SE-7VE4075W)

feigned illness

OOJIbHBIM

fingiu-se doente

sich krank stellen

3. assemble a crowd : to congregate -
(1) implore : to refuse
(2) justify : to be right
(3) teach : to know
(4) fundraise : to be miserly
4. hair : to remove lice -
(1) bush : to prune
(2) garden : to weed
(3) stone : to clear stones
(4) pit:todig
5.  wasenslaved : slave -
(1) gotdressed : is clothed
(2) entered stealthily : thief
(3) endangered himself : dangerous
(4) feigned illness : ill
English Pycckuit Portugués Deutsch Italiano
to congregate cobuparorcs congregar-se sich radunare
greg p greg zusammenrotten
implore yIpammBaeT insistir anflehen insiste
. cobupaet raccoglie fondi/
fundraise levantar fundos Spenden sammeln
MOKEPTBOBAHMS offerte
to be miserly CKYIIIbI paes-duros geizig (essere) avari
to remove lice BBIYECHIBATH tirar piolhos entlausen spidocchiare
to prune HOACTPUTATh podar stutzen potare
to weed MOJIOTh cortar a grama jéiten diserbare
to clear stones OUNIIATH OT KaMHEN tirar as pedras entsteinen togliere pietre
pit AaMa fosso Grube pozzo, fossa
was enslaved ObLT 0GpameH B subjugou-se unterworfen divenne schiavo
pabceTBO
. entrou S . < g
entered stealthily | mpokpascs . sich einschleichen | entrd di nascosto
sorrateiramente
MPUTBOPUIICS

si finse malato
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a»:aAnnn (2)
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Critical Reading and Inference Questions (Questions 6-14)

The following instructions relate to questions 6-8.

In each question, there is a sentence (or sentences) with several parts missing, followed by four
possible ways of completing the sentence. Complete each sentence, using the response that is
most appropriate.

6.

Who is the author who chose to publish the novel The King under the pen name Boris Shevedin? Some
claim that it Joshua Katz. In my opinion, there is substance to this claim, because
Katz's style, it is of Katz to hide behind a pseudonym.

(1) cannot be / no / even though the style of The King is nothing like / uncharacteristic

(2) is most probably / no / not only is the style of The King nothing like / also uncharacteristic
(3) cannot be / some / not only is the style of The King reminiscent of / also characteristic

(4) is most probably / no / even though the style of The King is similar to / characteristic

. However, the weather conditions expected
to go on a picnic the day after tomorrow.

Tomorrow's weather will be than yesterday's,
for a trip to the countryside; therefore,

(1) worse / but will improve in two days' time / then will still be too poor / you are advised not

(2) better / and will improve even more in two days' time / in a week's time will be particularly
pleasant / you are advised

(3) worse / and the day after tomorrow will be even worse / in a week's time will be good enough / you
are advised

(4) better / and is expected to improve slightly later on in the week / then will still be too poor / there
is no reason not

According to Japanese law, a state commission of inquiry can require witnesses to appear before
it and force them to present relevant documents. It is therefore to understand why the Japanese
government's decision content itself with appointing an ordinary investigative committee to
inquire into a sensitive matter of public importance was interpreted as a measure aimed
ascertaining the truth.

(1) only /difficult / to / at calming the general atmosphere rather than

(2) only/easy/to appoint such a commission and not / at calming the general atmosphere rather than

(3) even an ordinary investigative committee and not only / difficult / to / at calming the general
atmosphere rather than

(4) only / difficult / to appoint such a commission and not / at

English

Pyccknit

Portugués

Deutsch

Italiano

pen name

JUTEPATYPHBII ICEBIOHUM

nome ficticio

Dichtername

firma, firmandosi

pseudonym

IICEBIOHIM

pseudénimo

Pseudonym

pseudonimo

force

3aCTaBUTDH

forgar

zwingen

costringere

was interpreted

ObIJIa NCTOJIKOBAaHa

foi interpretada

gedeutet wurde

fu interpretata

measure

Mepa

processo

MaBnahme

misura, atto
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In Europe, at the beginning of the thirteenth century, two Christian monastic orders were founded.
Both embraced a life of poverty and simplicity, engaging in preaching and the conversion of pagans.
The first of the orders founded in this spirit was the Franciscan order, established in 1209. Several
years later the Dominican order was formed. Both these orders were referred to as "mendicant
(begging) orders," and their members, unlike those of other monastic orders at the time, were not
cloistered within the monastery to which they belonged, but were active in communities, both in
Europe and elsewhere.

Three of the following are mentioned in the above paragraph as characteristics of the two orders that
were established at the beginning of the thirteenth century. Which characteristic is not mentioned?

(1) Engaging in religious conversion

(2) Leading a simple way of life

(3) Active involvement in the society around them
(4) Aiding beggars

10.

In a discussion of the advantages and disadvantages of conducting Knesset elections via the Internet,
one of the method's opponents said, "Admittedly, this election method discriminates against people
without Internet access. But on the other hand, it also makes voting easier for those with limited
mobility, and anyway, it is reasonable to assume that it will increase the voting rate. However, I doubt
that the speed and accuracy of the computerized method are enough to offset the concern that the
integrity of the elections may be seriously undermined by acts of fraud.

What can be learned from the above statement about the speaker's priorities?

(1) In his opinion, it is more important to ensure that the election method prevent acts of fraud than to
increase the voting rate.

(2) In his opinion, it is more important to ensure that the election method be fast and accurate than to
enable those without Internet access to vote easily.

(3) In his opinion, it is more important to increase the voting rate than to improve the accuracy and
speed of the voting method.

(4) In his opinion, it is more important to prevent discrimination against those without Internet access
than to make voting easier for those with limited mobility.

English Pycckmnit Portugués  |Deutsch Italiano

orders opreHa ordens Orden ordini

embraced npugepKuBaauch | adotaram praktizierten abbracciarono

preaching IIPOIIOBENN sermao Predigen predica, predicare una fede

conversion KpelleHne conversao Bekehrung conversione

characteristics | XapaKTepUCTHKH caracteristicas | Merkmale caratteristiche

discriminates

NCKPUMUHUPYET,

discrimina benachteiligt discrimina
IUCKPAMHUHAPOBATh

rate

YUCIEHHOCTh taxa Prozentsatz, Beteiligung |tasso di votanti

offset

YPaBHOBECHUTD contrabalancear | entgegenwirken controbilanciare

concern 0ecroKoiCTBO suspeita Sorge preoccupazione

acts of fraud | panscudpukanys atos de fraude |Betriigereien frodi, brogli elettorali
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11.

The communicating of ideas is not the chief and only end of language, as is commonly supposed.
There are other ends, such as arousing passion, impelling or deterring an action, putting the mind into a
particular mood. The former end is in many cases merely subservient to the other ends, and is
sometimes entirely omitted, when these ends can be obtained without it, and I think that this is what
happens not infrequently in the normal use of language (based on George Berkeley).

Which of the following is not correct?

e))
2
3)

“)

In Berkeley's opinion, the use of language is sometimes intended to deter a person from a
particular action.

According to Berkeley, when a person wishes to arouse passion in another person, he generally
does so in order to communicate an idea.

The "former end" is referred to in this way because of the order in which the ends appear in the
text, and not because of the importance Berkeley attributes to it.

In Berkeley's opinion, not infrequently one of the ends of language can be obtained without
communicating ideas.

12.

In a conversation between Norman and Ruth, Norman told Ruth something. In response Ruth said to
him, "If you have finished crossing the river, why not leave the boat behind?"

Which of the following alternatives is most probably what Norman told Ruth?

€]
2
3)

)

Norman told Ruth that he had taken a tutor to help him study for the chemistry test, and after doing
well on the test, he thanked the tutor and they parted.

Norman told Ruth that he was still taking driving lessons even though he had already failed five
driving tests.

Norman, who recently returned from a trip to Brazil, told Ruth that on his trip he had made friends
with an Israeli fellow, and that they were still getting together.

Norman told Ruth that he was continuing to attend meetings of the support group that he had
joined in order to overcome his fear of tests, even though he had completely rid himself of this
fear.

English

Pyccxuit

Portugués

Deutsch

Italiano

end

npeaHasHavYCHue

objetivo

Zweck

SCopo

impelling

NpUBECTU B lICfICTBPIC

impelir, motivar

anregen Zu

l'incoraggiare una azione

deterring

OTTOBOPUTH OT

dissuadir de

abhalten von

lo scoraggiare una azione

subservient

CITY>KUT

Serve

untergeordnet

funzionale a ...

1s omitted

HE UCIHOJIB3YETCA

€ omitido

entfallt

omesso/a

failed

NOTpENeN Heygady

foi reprovado

durchgefallen

non superare (esami)

rid himself of

n30aBuiIca OT

livrou-se do

ablegen

sbarazzarsi di
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13. It has long been known that city life causes people who live in the city to be more ambitious and
competitive than people who do not live in the city. A new study has found that the inhabitants of rural
villages located far from the city are less ambitious and competitive than are inhabitants of rural
villages that are close to the city.

Which of the following is not a possible explanation for the new finding?

(1) The closer the geographical proximity of a rural village to a city, the greater is the proportion of its
inhabitants who work in the city and who spend most of the day there.

(2) The closer a rural village is to the city, the greater the cost of housing in the village. Therefore,
people living near the city must have substantial financial means, which are generally attained by
being ambitious and competitive.

(3) The less ambitious and competitive a person is to begin with, the greater the likelihood that he will
prefer living in a rural village rather than in the city.

(4) The majority of people who have lived most of their lives in the city and move to a rural village
prefer to move to villages that are relatively close to a city.

14. Given: Esther, who smokes, is in the habit of using the flowerpots in her home as ashtrays. Sammy
does not smoke. The flowers in Esther's flowerpots grow much better than those in Sammy's
flowerpots.

Conclusion: Cigarette ash helps flowers grow.

Which of the following pieces of information could support this conclusion?

(1) Gail, Sammy's wife, smokes and scatters the ashes in his flowerpots every day.

(2) Sammy is more careful than Esther about giving his flowers the right amounts of water and
fertilizer.

(3) Esther's flowerpots contain only geraniums, which flourish even under difficult conditions.

(4) Sammy keeps his flowers in flowerpots that are cheaper than those Esther uses for her flowers.

English Pycckmii Portugués Deutsch Italiano

proximity 0IM30CTh proximidade Nihe prossimita
o0amaroT

have substantial | 3HAYMTENbHBIMI avere buoni mezzi

. . ter posses Wohlhabend .

financial means | eHeXKHbIMU economici
cpencTBaMu

generally attained | HaKamIMBarOTCS sdo acumuladas was erreicht wird vengono ottenuti

likelihood LIAHCBI probabilidades Chancen probabilita

ash nenesn cinzas Asche cenere

scatters pa30pachIBaeT espalha verstreut sparge
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Reading Comprehension (Questions 15-20)

Read the text below carefully, and answer the questions that follow.

)]

(&)

(10)

Many religions base themselves on what they term "miracles" as one of the ways of proving the
existence of God. Accordingly, dramatic, unexplainable events, which are perceived as deviating from
the laws of nature, are attributed to the will of an omnipotent God. The belief in miracles is contrary to
the view that the natural order and the laws of nature cannot be violated under any circumstance. Is it
possible to bridge the gap between these two approaches? The 18th-century philosopher William Paley
argued that it was. According to him, the divine image is not unidimensional: It incorporates within it
constancy, as reflected in the order and laws of nature, as well as richness and color, which find
expression in the form of miracles. In attempting to resolve the contradiction between the two
approaches, Paley was in fact trying to simultaneously defend both the laws of nature and deviations
from these laws.

The philosopher Baruch Spinoza took a more consistent approach. His view of the discrepancy
between the perception of a natural, stable order, and the accounts in the Scriptures of deviations from
this order, was based on two arguments: First — that the ancients had poor powers of distinction, and as

a result, their accounts suffered from mistakes and exaggerations. He argued that they did not
(15)  understand what was happening, and gave mistaken interpretations of the phenomena that they

observed. His second argument deals with the conventional interpretation of the Scriptures. According

to him, matters that are presented in the Scriptures in the form of metaphors and parables are taken
literally by conventional commentaries.

English Pyccxuit Portugués Deutsch Italiano
miracles gyfeca milagres Wunder miracoli
deviating SIBIISIETCS] UCKJIIOUEHNEM | que ndo se enquadra | abweichen von devianti
omnipotent BCECHUIILHBIN onipotente allméchtig onnipotente
be violated HapyLIarTCA sdo violados verletzt werden | esser trasgredite
gap, . . Unterschied distanza,
discrepancy pasiine discrepancia Diskrepanz discrepanza
constancy CTaOMIILHOCTh constancia Bestindigkeit stabilita
resolve YA UTh resolver 16sen, beheben risolvere
contradiction | IpOTHBOpEYHE contradi¢do Widerspruch contraddizione
consistent NOCIIeJOBaTENbHAS consistente Konsequent coerente
gpwers .Of HaOJIO/IaTeNbHOCTh poder de distin¢do Wa.hmeh Mmungs- C;.lp;.mi.té
istinction fahigkeit di distinguere
parables aJeropun pardbolas Gleichnisse parabole
literally OyKBaJlbHO literalmente wortlich alla lettera
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David Hume was another philosopher who took a skeptical view of the existence of miracles.

(20)  He argued that the laws of nature were formulated on the basis of man's widest and most constant
experience. They therefore reflect the highest degree of probability that can be determined by
experience. If so, what degree of probability may be ascribed to the existence of miracles, if we prove
their existence by relying on experience? According to Hume, the probability is virtually nil.
Nevertheless, it should be noted that Hume does not totally rule out the possibility that miracles have or

(25)  will occur. His arguments relate only to the degree of probability to be ascribed to such a possibility. It
follows from Hume's ideas that one should not adhere to a belief in miracles. On the other hand, there
is the possibility that miracles may occur, and one should therefore not adopt a position that rules out
this possibility in advance. This state is one of agnosticism — perpetual suspended judgment with
regard to this issue.

(30) The philosopher Blaise Pascal argued that agnosticism is an undesirable state for a person to be in,
and one should therefore avoid it. According to him, an individual must acknowledge the fact that he
will always be in a state of ignorance with regard to the occurrence of miracles, and thus also with
regard to the existence of God. Consequently, he says that a person should gamble on the existence of
God and observe his commandments. The price of this gamble is not a high one, and thus, should the

(35)  believer discover that he made a wrong choice, he will not have lost much. But, if the gamble should
prove to be right, the person who chose this path will be rewarded with eternal life in the world to
come. Pascal's reasons for preferring a belief in the existence of God are utilitarian ones, and as such
have been criticized both by those who believe in God's existence and by those who deny it. Many
philosophers who believe in the existence of God argue that their belief is absolute and should not be

(40)  justified on the basis of considerations from other fields. Philosophers who do not believe in God have
questioned the validity of the utilitarian consideration. They argue that even if there is a God, there is
no reason to assume that he would reward only those who observe the commandments of one
particular religion over another. Moreover, it is unlikely that God would reward people who believe in
him purely for reasons of personal benefit.

English Pyccxuit Portugués Deutsch Italiano
skeptical CKENTHYeCcKast cético zweiflerisch scettica
ObLIN . .
were formulated foram formulados | formuliert wurden furoni formulate
cpopMyTHpPOBAHBI
probability BEPOATHOCTh probabilidade Wahrscheinlichkeit probabilita
be determined | BeITeKkaeT que € determinada | abgeleitet werden essere determinata
nil HyleBas nula gleich Null nulla
adhere IPUAEP>KABATHCA aderir anhingen aderire, credere
perpetual OecKoHeuHas suspensdo perpétua | bestindig Sospensione
suspended OTCpOYKa cyXKfieHust | de julgamento aufgeschobenes Urteil | PETPEtUA
judgment p YR Juie & di giudizio
amble ClIENaTh CTaB apostar wetten auf scommessa,
& a Ky P scomimettere
utilitarian parMaTHYeCcKue proveitosos niitzlichkeitsbestimmt | utilitaristici
deny OTPHULAIOT negam leugnen negano l'esistenza
validity IPaBOMOYHOCTh validade Giiltigkeit validita
reward BO3HArpajiuT recompensara belohnen ricompensera
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Questions

15.

According to Paley -

)]
2

3)
“

the laws of nature and deviations from these laws exist side by side, reflecting different properties
that characterize God

the laws of nature exist irrespective of God, whereas miracles reflect the will and the deeds of an
omnipotent God

there are no laws of nature because God is a multidimensional and colorful figure

the fact that miracles can always occur testifies to God's constancy

16.

Which of the following can be understood from Spinoza's arguments, as presented in the second
paragraph?

ey
2
3)
)

There is really no contradiction between the two approaches presented in the first paragraph, as it
has already been proven that miracles have never occurred.

The conventional interpretation of the Scriptures perceives what is written in them the way it was
meant to be perceived.

Even someone unfamiliar with the laws of nature can tell whether or not an event that he witnessed
can be considered a miracle.

Today there is no evidence of the occurrence of miracles because our powers of distinction are
better than those of the ancients.

17.

Agnosticism, as presented in the text, means -

)
(@)
3
)

denial of the existence of God

perpetual undecidedness as to the possibility that miracles occur

that gambling on the existence of God is more worthwhile than the opposite gamble
that the probability of miracles occurring is very low

18.

The gamble proposed by Pascal -

€]
(@)
3)
)

derives from his belief in God

is based on the benefit that a person would derive from such a gamble
is what makes it possible to perpetually suspend judgment

is what makes the existence of miracles possible
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19.

Koblenz, a member of the Bubli religion, read Pascal's writings, and as a result decided to obey the
religion's commandments. According to the text, a possible criticism of this step is that -

(1) evenif a god exists, there is no reason to assume he would favor the believers of the Bubli religion
in particular

(2) even if a god exists, there is no reason to assume he would reveal himself to his believers through
miracles

(3) if a god exists, he would probably prefer his believers to remain in a state of perpetual suspended
judgment

(4) if a god exists, he would probably favor those who gambled on his existence

20.

Among the approaches presented in the text, which of them negates the existence of miracles?

(1) only Spinoza's approach

(2) only Hume's approach

(3) only Pascal's approach

(4) both Spinoza's and Hume's approaches
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SECTION 3 : ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion, Restatement and
Reading Comprehension. Each question is followed by four possible responses. Choose the
response which best answers the question and mark its number in the appropriate place on the
answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word or words missing in each. For each question, choose the
answer which best completes the sentence.

1. In 1874, the Universal Postal Union was established to modernize and improve postal
worldwide.

(1) services
(2) descriptions
(3) meetings
(4) reviews

and is related to the camel.

2.  The alpaca is an animal of South American

(1) origin

(2) reputation
(3) maturity

(4) sequence

3.  José Zorrilla y Moral's play Don Juan Tenorio was the most popular drama in 19th-century
Spain, but the playwright himself the work as a failure.

(1) isolated
(2) regarded
(3) adopted
(4) consulted

4.  Most warts do not go away without medical treatment, but some do disappear

(1) fundamentally
(2) spontaneously
(3) authentically
(4) retroactively
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5.  The original purpose of fishing was to obtain food; today, however, many people fish for
sport and do not care whether or not their catch is

(1) legible
(2) edible

(3) tangible
(4) feasible

6.  The Chinese calculating device known as the abacus typically of thirteen columns of

beads in a wooden frame.

(1) conquers
(2) consists

(3) connects
(4) concludes

7.  The pit viper can hunt and attack in total darkness by sensing the body heat of its

(1) fury
(2) clay
(3) envy
(4) prey

8.  With the exception of the mountains in the western part of the country, Sweden's landscape is
relatively and lacks regional variations.

(1) eminent
(2) uniform
(3) appropriate
(4) infinite
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating the main
idea of that sentence in different words. For each question, choose the one restatement which best
expresses the meaning of the original sentence.

9.  Although Vladimir Nabokov was acclaimed for his novels, he also won the respect of
professional lepidopterists for his contributions to the scientific study of butterflies.

(1) Not only was Vladimir Nabokov a famous novelist, but he was also highly respected by
scientists for his research on butterflies.

(2) Vladimir Nabokov received more recognition for his contributions to the scientific study
of butterflies than for any of his novels.

(3) Vladimir Nabokov cared more about winning the respect of professional lepidopterists
than about being a famous novelist.

(4) Before he became an acclaimed novelist, Vladimir Nabokov made important
contributions to the scientific study of butterflies.

10. The New Guinea singing dog is so called because of the bizarre, harmonic howls it emits.

(1) Despite its name, the New Guinea singing dog does not emit harmonic sounds.

(2) Despite its name, the New Guinea singing dog neither sings nor comes from New Guinea.

(3) The name of the New Guinea singing dog comes from the bizarre fact that it can sing in
harmony with other dogs.

(4) The name of the New Guinea singing dog comes from the fact that the animal makes
unusual, musical sounds.

11. Concern over soaring gasoline prices has obscured the reality that substantial global reserves
of crude oil remain.

(1) Many people are concerned both about soaring gasoline prices and about the amount of
crude oil remaining in the world.

(2) The reasons why gasoline prices continue to soar while there are still substantial reserves
of crude oil remain obscure.

(3) There is still a significant amount of crude oil in the world, but so much attention is paid
to the rising cost of gasoline that people are unaware of this.

(4) Unless large reserves of crude oil are discovered soon, it is likely that the cost of gasoline
will continue to increase.

12. John Hope Franklin's book Runaway Slave demonstrates conclusively that American slaves
did not acquiesce in their enslavement.

(1) In Runaway Slave,John Hope Franklin proves definitively that American slaves did not
accept their situation passively.

(2) According to John Hope Franklin's Runaway Slave, there is conclusive evidence that
many American slaves were eventually able to escape.

(3) John Hope Franklin's Runaway Slave concludes that not all American slaves welcomed
the end of slavery.

(4) John Hope Franklin's Runaway Slave argues forcefully that American slaves could not
have successfully resisted their enslavement.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each question,
choose the most appropriate answer based on the text.

Text I (Questions 13-17)

(1) Despite temperatures that remain around -30°C even in summer, Antarctica is becoming
an increasingly popular destination for scientists. This is because they have come to the
conclusion that it offers excellent conditions for observing the stars, the sun and even the
earth. Many scientists have visited, or plan to visit, the American observation post called

(5)  McMurdo Station — the only place where people live in Antarctica. Recently, a special
building was constructed to house a new telescope which was shipped to the station.
Scientists hope that this is just the beginning. "We want bigger telescopes and more extensive
scientific projects," says Al Harper, an astronomer from Chicago who visits the station every
year.

(10) But there is a serious problem facing those who would like to see an increase in scientific
activity in Antarctica. The station's main structure is slowly falling apart due to the snow that
continually builds up around it. Last year, a crack 20 centimeters long appeared in the
supporting ring around the base of the structure, a sign that additional damage can be
expected in the future, according to engineers. John Rand, the station's engineering manager,

(15)  believes that within ten years the damage will become too expensive to repair and that
eventually the building will collapse. The National Science Foundation (NSF), which funds
research in Antarctica, already spends $5 million each year to maintain the station. This
figure will increase greatly in the coming years.

According to Eric Chiang, the NSF's polar operations manager, the solution is to build a
(20) new station which will be better able to withstand the Antarctic weather. The problem is that
a new station would cost $200 million, a price to which the NSF is unlikely to agree.

Questions
13. The main purpose of the text is to discuss -

(1) the advantages and disadvantages of working at McMurdo Station

(2) special buildings being constructed in Antarctica to house scientists

(3) an increase in scientific activity in Antarctica and a problem which might affect this
activity

(4) reasons why more scientists will be interested in visiting Antarctica in the future
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14. The author mentions, "observing the stars, the sun and even the earth" (lines 3-4) in order to -

(1) explain why scientists are attracted to Antarctica

(2) explain why scientists in Antarctica wanted a new telescope

(3) show that the work being done in Antarctica is very important
(4) show that scientists from different fields are studying Antarctica

15. 1Inline 12, "it" refers to -

(1) aserious problem
(2) Antarctica

(3) the structure

(4) the snow

16. The engineers mentioned in the second paragraph believe that the crack in the station's
structure -

(1) is not the only problem that must be solved

(2) must be repaired immediately

(3) is a sign that more damage will occur in the future
(4) was not necessarily caused by snow

17. According to the last paragraph, the NSF will probably not -

(1) be able to fund research in the future

(2) give $200 million for building a new station
(3) send more researchers to Antarctica

(4) control McMurdo Station in the future
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Text II (Questions 18-22)

(1 Advertising that demeans women is worse than annoying — it can actually be harmful.
Viewing television commercials that portray women as mindless can lower women's scores
on mathematics tests, even if the women are math majors, psychologists have found.

Paul Davies and his colleagues at the University of Waterloo in Ontario showed sixty
5) first-year math majors — both male and female — six commercials from Canadian television.
They told the students that they would later take a memory test on what they saw. All the
students were shown four neutral commercials containing no sexist stereotypes and two
additional commercials. In one group, the additional commercials were neutral, while in the
other group they contained demeaning stereotypes.

(10) Afterwards, the students were given an advanced math exam in place of the memory test
that they were expecting. The researchers found that the average score of the women who
had not watched the sexist commercials was in the 36th percentile. The average score of
women who had watched the sexist commercials, however, was much lower — in the 19th
percentile. On average, the men scored in the 36th percentile, whether or not they had seen

(15)  the sexist commercials.

Davies believes that the advertisements primed the women to think about female
stereotypes. He suspects that the women who saw the sexist images were preoccupied with
disassociating themselves from them instead of concentrating on the exam. The influence of
this "stereotype threat" extends to decision making, as well, Davies found. In a different

20)  study, he showed the two sets of commercials to two groups of students taking a first-year
math course and then asked them which majors they were considering. The women who had
seen the sexist commercials mentioned fine arts, creative writing and history more often than
those who had seen the neutral set. The women in the second group opted for math, science
and engineering at the same rates as the men. Davies says his results should be a warning to

25) anyone who thinks that an occasional stereotype or sexist joke doesn't matter.

Questions

18. Inline 1, "demeans" is closest in meaning to -
(1) portrays
(2) influences

(3) humiliates
(4) annoys
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19. According to the second paragraph, Paul Davies' study -

(1) used actual commercials

(2) examined Canadian television

(3) looked at stereotypes about mathematicians
(4) tested students' memories

20. The main purpose of the third paragraph is to -

(1) present the results of the study described in the second paragraph

(2) explain why the female math majors did worse than the male math majors
(3) show that sexist commercials caused scores to drop to the 36th percentile
(4) compare the results of the memory test and the math test

21. The main purpose of the last paragraph is to -

(1) describe a study that contradicts the results of the first study and explain the differences
between them

(2) discuss Davies' theory of the "stereotype threat" and how it affects performance on math
tests

(3) present Davies' beliefs concerning the harmful effects of stereotypes and warn people
about them

(4) describe another study that supports the results of the first study and draw conclusions
from both

22. It can be understood that "this 'stereotype threat" (line 19) -

(1) affects women's ability to concentrate

(2) applies only to performance on exams

(3) affects men and women equally

(4) can be avoided by not watching commercials
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SECTION 4 : ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion, Restatement and
Reading Comprehension. Each question is followed by four possible responses. Choose the
response which best answers the question and mark its number in the appropriate place on the
answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word or words missing in each. For each question, choose the
answer which best completes the sentence.

1.  The Curious George children's books are about the
into mischief.

of a monkey who is always getting

(1) instruments
(2) entrances
(3) opposites
(4) adventures

2. Inthe 1990s, the Democratic Republic of the Congo absorbed large numbers of refugees from
neighboring countries, Rwanda.

(1) affectionately
(2) artificially

(3) particularly
(4) enthusiastically

3.  Until the 1940s, physicians commonly wrote for drugs entirely in Latin.

(1) misconceptions
(2) aspirations

(3) transitions

(4) prescriptions

4. Though on land, the 13th-century Mongols suffered great losses at sea.

(1) unavoidable
(2) undefeated
(3) uncooperative
(4) unsatisfied
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5.  Beverly Cleary's books have been celebrated for their understanding of children's problems
and into the way young people think.

(1) garment
(2) circuit
(3) asset
(4) insight

6.  The rubber and palm trees which dominate the landscape of Malaya were planted for their
, rather than their ornamental, value.

(1) commercial
(2) provincial
(3) occupational
(4) eventual

7.  Chronic unemployment has the optimism and self-confidence enjoyed by many
Europeans since the end of World War II.

(1) underscored
(2) overestimated
(3) overseen

(4) undermined

8.  Agricultural irrigation two-thirds of water use worldwide.

(1) inherits from
(2) confesses to
(3) depends on

(4) accounts for

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating the main
idea of that sentence in different words. For each question, choose the one restatement which best
expresses the meaning of the original sentence.

9.  An increasing number of neuroscientists have begun to reject the idea that consciousness
cannot be studied.

(1) More and more neuroscientists are interested in studying consciousness, although they are
not sure whether this can be done.

(2) There is a growing number of neuroscientists who no longer think that it is impossible to
study consciousness.

(3) In the past, the findings of neuroscientists who studied consciousness were not regarded
as reliable.

(4) Neuroscientists who once tried to study consciousness now realize that this is impossible
to do.
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10. The popular assumption that whales are the creatures most threatened with extinction has
been proven false.

(1) It has been proven that the common belief that whales are more threatened with extinction
than are other animals is wrong.

(2) It would be wrong to assume that whales are less threatened with extinction than are other
creatures, despite the claims of some people.

(3) Itis difficult to prove which type of creature is most threatened with extinction, but most
people believe it is the whale.

(4) It was once thought that only certain types of whales were threatened with extinction; it is
now known, however, that this is true of all whales.

11. Opinion polls conducted in the United States during the early years of World War II showed
that, while the majority of Americans favored providing financial and material assistance to
Great Britain in its military campaign against Germany, there was virtual unanimity against
entering the war.

(1) Opinion polls conducted in the United States during the early years of World War II
showed that most Americans sided with Great Britain, while a small number supported
Germany.

(2) During the first years of World War II, there was virtual unanimity in the United States
against entering the war, but later, the majority of Americans favored joining Great
Britain in its military campaign against Germany.

(3) During the early years of World War II, most Americans believed that Great Britain could
defeat Germany only if the United States provided financial and material assistance.

(4) In the first years of World War II, few Americans wanted the United States to join the
war, even though most thought that the country should support Great Britain's fight
against Germany by sending money and goods.

12. Sixteenth-century Venetians deviated very little from accepted norms of behavior and taste.

(1) The behavior and tastes of most people in sixteenth-century Venice were extremely
unusual.

(2) Throughout the sixteenth century, Venetian behavior and taste changed very little.

(3) In sixteenth-century Venice, there was a high degree of conformity in behavior and taste.

(4) The people of sixteenth-century Venice varied widely in their behavior and tastes.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each question,
choose the most appropriate answer based on the text.

Text I (Questions 13-17)

1) In an attempt to lower the incidence of disease in India, certain organizations have
decided to do something about the growing mountains of rubbish that are home to the rats that
carry plague and other diseases. One of the methods they have adopted is vermiculture — the
cultivation of worms.

©) Using a species of worm called Pheretima elongata, the Green Cross Society (GCS) of
Bombay has begun a large number of projects aimed at converting organic rubbish into
compost, which is used as fertilizer in agriculture. The worms, when introduced into a pit or
container of organic rubbish, eat their way through the rubbish and produce a high-quality
compost.

(10) For some time, the GCS has been selling worms for vermiculture projects abroad. Now
its worms are helping to reduce the amount of rubbish at home. Following a recent outbreak
of plague, the number of orders for worms placed by private companies, government bodies
and local authorities has increased dramatically.

At present, Bombay generates 5,800 tonnes of rubbish daily. So far, the GCS's
(15)  attempts to recycle the organic rubbish have been modest. Its worms are able to process only
four tonnes of waste from Bombay's butcher shops and slaughterhouses every day. In the
future, however, the GCS plans to process an additional twenty tonnes of vegetable waste a
day.

Local authorities in many Indian cities are impressed by what the GCS has achieved
20y  thus far. But Shantu Shenai, one of the GCS's workers who is an expert on vermiculture, says
modestly, "The worms are just fulfilling their natural function."

Questions
13. The second paragraph mainly discusses -
(1) how the Green Cross Society was established
(2) whether vermiculture should be introduced into Bombay

(3) some of the causes of disease in Indian cities
(4) one way in which vermiculture can be used
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14.

Pheretima elongata is the name of a -

(1) worm used in the vermiculture projects

(2) process in which rubbish is turned into compost
(3) common fertilizer used in agriculture

(4) type of rat that carries disease

15.

According to the third paragraph, because of a recent outbreak of plague -

(1) people are afraid to use fertilizer produced in Bombay

(2) the government is removing much of the rubbish from Bombay's streets
(3) there has been an increased demand for worms

(4) the incidence of other diseases has increased dramatically

16.

In the future, the Green Cross Society will probably -

(1) close many of Bombay's butcher shops and slaughterhouses
(2) process twenty-four tonnes of rubbish a day

(3) begin selling worms for vermiculture projects outside India
(4) become the major producer of fertilizer in India

17.

An appropriate title for this text would be -

(1) A Promising Method of Combatting Disease in India
(2) Vermiculture: Advantages and Disadvantages

(3) The Threats Posed by India's Rubbish Problem

(4) The Fight Against Plague-Carrying Worms
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Text II (Questions 18-22)

(1 Douglas Cardinal's first attempts to design buildings were not well received: the
University of British Columbia School of Architecture asked him to leave after a single year
of study. The world-renowned Canadian architect explains that, at the time, his ideas about
architecture and form were considered radical: "I wanted to create buildings that were more

(5)  compatible with the natural environment — and the nature of man — than the demeaning boxes
that most people are forced to live and work in." Cardinal attributes his affinity for organic
shapes to his rural upbringing on the plains of Alberta, Canada. He also credits his Indian
heritage with instilling in him a great respect for nature and for the importance of living in
harmony with the land.

(10) Half a century after completing his architectural studies at the University of Texas,
Cardinal has remained true to his ideals. His style is often characterized as "free-form" and
"curvilinear." One of Cardinal's first projects, a church in his native province, has been
compared to a series of hills, a huge sea shell, and a cave. Cardinal's most imposing work, the
colossal Canadian Museum of Civilization in Quebec, symbolically depicts the glaciers,

(15)  winds, and rivers that sculpted the North American continent at the end of the Ice Age, when
humans first came to inhabit what is now Canada.

Cardinal's latest and most challenging assignment is the National Museum of the
American Indian in Washington, D.C., slated to open this year. Cardinal describes the
structure as "an abstraction of natural rock outcroppings." The building is oriented according

(20)  to various astronomical reference points that are significant in Indian tradition. Appropriately,
Cardinal and his team of architects worked surrounded by photographs depicting both the
natural world and Indian culture: waterfalls, canyons, cliff dwellings, totem poles. It is clear
that the museum is destined to be one of the most unusual and talked-about structures in the
United States — as well as a radical departure from the "demeaning boxes" still characteristic

25) of most modern architecture.

Questions

18. According to the first paragraph, had a major influence on Douglas Cardinal's ideas
about architecture.

(1) the University of British Columbia School of Architecture
(2) the people with whom Cardinal lived and worked

(3) buildings on the plains of Alberta, Canada

(4) Cardinal's rural upbringing and Indian heritage
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19. It can be inferred from the second paragraph that Cardinal tried to represent the Ice Age in his
design for the Canadian Museum of Civilization because -

(1) civilization in Canada began soon after the Ice Age

(2) Canada is known for its cold and icy climate

(3) he wanted a design that would be free-form and curvilinear
(4) symbols of the Ice Age are appropriate for a colossal building

20. The main purpose of the last paragraph is to -

(1) discuss Cardinal's influence on modern architecture

(2) compare Cardinal's current work in Washington, D.C., with his previous work in Canada

(3) explain why Cardinal thinks the National Museum of the American Indian is such a
challenging assignment

(4) describe Cardinal's most recent architectural project

21. Inline 18, "slated" is closest in meaning to -

(1) challenged
(2) scheduled
(3) completed
(4) designed

22. An appropriate title for the text would be -

(1) No More Demeaning Boxes: Efforts to Change the Face of Canadian Architecture

(2) From Canada to Texas and Back Again: Douglas Cardinal's Struggle to Be Accepted as
an Architect

(3) Living in Harmony With the Land: The Indian Influence on North American Architecture

(4) Organic Shapes in Architecture: Douglas Cardinal Makes His Lifelong Dream a Reality
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Section 5: Verbal Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of several types of questions: analogies, sentence completions, logic and reading
comprehension. Each question is followed by four possible responses. Choose the one which best answers
the question and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages

at the bottom of the page.

Analogies (Questions 1-5)

Each of the following questions contains a pair of words in bold type. Find the relationship between the
meanings of these two words, and then choose from among the possible responses the one in which the
relationship between the two words is most similar to the relationship you have found.

Note: The order of the words in each pair is significant.

1. to deceive : to be misled -

(1) to provoke : to show restraint
(2) to embarrass : to feel ashamed

(3) to confuse : to reconsider
(4) to forgive : to apologize

2. matchmaker : marriage -

(1) driver : license

(2) forecaster : future
(3) commander : victory
(4) gardener : irrigation

English Pyccknit

Portugués

Deutsch

Italiano

to deceive 0OMaHyTb

enganar

betriigen

ingannare

to be misled ObITH OOMaHyTHIM

ser enganado

irregefiihrt werden

lasciarsi ingannare

to show restraint | Cep>KUBaTbCS conter-se sich zurilickhalten | contenersi

to reconsider OIOMHUTBHCS recuperar-se zurechtriicken riconsiderare

matchmaker cBaxa casamenteiro Heiratsvedrmittler | sensale di matrimonio
revisor . S

forecaster IIpeficKa3aTenb p L. Wettervorhersage | colui che fa previsioni

meteorolégico
commander MOJIKOBOJIEI] comandante General comandante
irrigation MOJIMBKA irrigagdo Bewiisserung irrigazione




5

(NSE-7VE4072W)

- 197 -

M99 NAYN : 5 P99

SIONY 20 Nt P93
MPT 20 NI ASPIN YOI

D2°0Y MWD YIIN MYNIN NONY D35 .NIPIN NN 11N, 000N NNOYN  NPIDIN :MONY DY DY DOND Mt PI92
2NN 1ONA DOIXNIND DIPHNA NIDN NN JHDD ,NIRY D30 9N NNIRNNN NIVND DN NN

TINYN THPRNNA MY NNIY MNVINDND NN YPI DY MY NN D900 a9 1Y

(5-1 MONY) IPNIIN
MYSIND MWDN TN 1INIY,N9IND DINN STIY SY TMYNYNN P DN DN INSD . IVITIN D9 I W 19N 971

LDNNNAY DM 9912 119D NI 1173 DNYNY DD % DN

AN DODNN ITOD MAWN ¥ a9 MY

- 95w pavh b L1
»oIND - MHNno (1)
oo>nY - w»1d  (2)
nwynno : 91515 (3)
ONINND : DNND (4)
- PRIV : 19TV 2
WA M (1)
TNY NN (2)
NPNX) = NOANND (3)
PYN M (@)
Magyar Nederlands KoIcE 93y
becsapni bedriegen N FAN/RNCNC "o
becsapva lenni misleid worden NOntr avaoldor 551w NaYH
visszafogni magat zelfbeheersing tonen avFpAq/av P mA »oIN>
meggondolni magag opnieuw overwegen h7L15 avanCanC nwynino
hazassagkozvetito huwelijksbemiddelaar hoY) e PV
jos weervoorspeller a9 7L NN
hadvezer bevelhebber / generaal Wi NOINN
locsolas irrigatie anee MpYn

s 20 0N to the next page Xan 710y5 12VN E—



5

- 198 -

(N5SE-7VE4072W)

dreamt : nightmare -

(1) erred : mistake

(2) shouted : hoarseness
(3) felt: ache

(4) insulted : insult

unemployed : to employ -

(1) original : to copy

(2) free : to imprison

(3) sick : to recuperate
(4) guilty : to incriminate

evidence : prove -

(1) mystery : solve

(2) advertisement : buy
(3) apology : forgive
(4) example : illustrate

English

Pyccknit

Portugués

Deutsch

Italiano

nightmare

KOIIMap

pesadelo

Alptraum

incubo

erred

ommocs

errou

etw. falsch machen

sbaglio, errd

hoarseness

Xpunora

rouquidao

Heiserkeit

raucedine

ache

olyiienne 6onu

dor

Schmerz

dolore

to recuperate

N3JICYNBATbCA

curar-se

genesen

guarire

to incriminate

OOBUHSTEH B
IPECTYIICHAN

incriminar

belasten

incriminare

evidence

T0Ka3aTCIbCTBO

evidéncia

Beweisstiick

prova (giuridica)

illustrate

JIEMOHCTPUPOBATh

ilustrar

veranschaulichen

illustrare
concretamente
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Critical Reading and Inference Questions (Questions 6-14)

The following instructions relate to questions 6-8.

In each question, there is a sentence (or sentences) with several parts missing, followed by four
possible ways of completing the sentence. Complete each sentence, using the response that is
most appropriate.

6. Dan left the trial : The judge noted in her verdict that the defense's arguments the
evidence presented in court in his favor.
(1) in defeat / even though / were rather convincing, / dissuaded her from ruling
(2) in defeat / in addition to the fact that / were rather weak, / convinced her to rule
(3) victorious / even though / were rather weak, / dissuaded her from ruling
(4) victorious / not only were / rather convincing, but / dissuaded her from ruling
7. "Better find out what your future neighbors are like before checking out the merits of a new apartment,"
my late grandfather used to say. Since my father, who always , when he bought an
apartment, we found ourselves living in whose occupants
(1) followed my grandfather's advice / deviated from this practice / a magnificent building / treated
one another rudely
(2) disobeyed my grandfather / deviated from this practice and went against my grandfather's advice /
one of the city's fanciest buildings / were pleasant people
(3) disobeyed my grandfather / did not deviate from this practice even / a tumbledown building / were
cultured and polite
(4) followed my grandfather's advice / did not deviate from this practice and followed the spirit of my
grandfather's advice even / a beautiful building / treated one another rudely
English Pycckmnii Portugués Deutsch Italiano
in defeat pourpan em desvantagem | (Prozess) verloren | perdente
dissuaded OTTOBOPUIIH dissuadiram-na davon abbringen |1'avevano dissuasa
ruling IPUHATH PEIICHNE decidir, decretar | entscheiden emettere la sentenza
. . L (Prozess) .
victorious BBINTpAJ vitorioso vincente
gewonnen
deviated BBIIIIEIN 32 PAMKH desviou abweichen devio
magnificent OTMHTHO B magnifico préachtig magnifico
BBICTPOCHHBIN
rudely rpy0ocTh rudeza grob, gemein sgarbatamente
disobeyed NOCTYNUTh Haniepekop | desobedecer zuwiderhandelt | disobbedire
tumbledown | BeTxuit quase ruindo baufillig cadente, in rovina
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8. known that my dog chained to the wall of the house, I would agreed with the
police investigator who claimed that the dog was apparently away.
(1) IfIhad/ was/not have / stolen and did not run
(2) Had I not/ was not / have / not stolen but instead ran
(3) IfI had/ was not/have / not stolen but instead ran
(4) Had I not/ was / have / stolen and did not run
9. In 2008, for the first time in the history of mankind, half of the world's population lived in cities. In
developed countries, this has been the average measure of urbanization since 1953. Developing
countries will reach this rate only in 2019, but the trend is clear.
What trend is clear?
(1) Only the developed countries are becoming more urbanized.
(2) Only the developing countries are becoming more urbanized.
(3) The entire world is becoming more urbanized.
(4) The difference in the rate of urbanization between developed countries and developing countries is
increasing.
10.  The following appeared in a newspaper:
"Coal exporting was the basis of Brazil's economy until the 1980s, in the course of which large oil
wells were discovered near the country's coast. Nonetheless, the coal industry remains Brazil's second
largest source of income."
Which of the sentences below most precisely expresses the meaning of the above?
(1) Even though oil is a significant source of income for Brazil, since the 1980s the country's income
has been based mainly on the coal industry.
(2) During the 1980s, Brazil began exporting large quantities of coal, which turned coal mining into
the second largest industry after the oil industry.
(3) Since Brazil's economy today is dependent upon oil exporting, the coal industry, which flourished
until the 1980s, has declined greatly in recent years.
(4) Today, coal mining is Brazil's second largest industry, after oil exporting replaced it in the 1980s as
the country's chief source of income.
English Pycckuit Portugués Deutsch Italiano
urbanization ypOaHu3anus urbanizagdo Verstadierung, urbanizzazione
Urbanisierung
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11.  Section 14 of the Contracts Law states: When a person has entered into a contract in consequence of a
mistake, and it may be assumed that, but for the mistake, he would not have entered into it, and if the
other party knew or should have known this, he may rescind the contract. Section 15 of the Contracts
Law states that a person who has entered into a contract in consequence of a mistake resulting from
deceit practiced on him by the other party, may rescind the contract.

Which of the following is common to a contract that may be rescinded according to section 14 and one
that may be rescinded according to section 15?

(1) One party deceived the other party.

(2) Each of the parties may rescind the contract.
(3) One of the parties knew that the other party entered into the contract in consequence of a mistake.
(4) One of the parties entered into the contract on the basis of a mistake.

12. Researchers have found that:
- The lifespan of hedgehogs with high levels of the substance alpha in their blood is longer than
the lifespan of hedgehogs with lower levels of alpha in their blood.
- Alpha weakens the activity of the substance beta.

Which of the following hypotheses is consistent with these findings?

(1) Hedgehogs with high levels of beta in their blood will have a longer lifespan than hedgehogs with
a relatively low level of this substance.
(2) Consumption of substances that inhibit the activity of alpha will have no effect on the lifespan of
hedgehogs.
(3) Spraying a certain area with alpha could cause the death of hedgehogs in that area.
(4) Preventing the body's production of beta can help lengthen the lifespan of hedgehogs.
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13. A researcher who examined famous portraits painted in different periods and in different parts of the
world discovered that in most of the portraits one of the subject's eyes is located precisely in the center
of the painting. The researcher hypothesized that this phenomenon stems from subconscious sources of
inspiration that are common to all mankind.

Which of the following pieces of information could support the researcher's hypothesis?

(1) It is known that the the length and width of many paintings, as we know them today, are not the
original measurements, because in many instances, the paintings' edges were cut off when their
frames were changed.

(2) The classic art books, studied by many artists over the course of history, devote an extensive
section to the importance of placing one of the subject's eyes in the center of the painting.

(3) Most of the portraits that exhibit this phenomenon show the subject in profile.

(4) Amateur photographers tend to focus the camera lens on one of the eyes of the person being
photographed.

14. Every member of the Briza tribe always addresses his relatives solely by a term that denotes their
family relationship. For example, he addresses his cousin as "Cousin." In addition, he addresses
anyone who is not a relative, yet has the same first name as the relative, in the same way. For example,
if Danny's grandfather's name is Nat, Danny addresses anyone whose name is Nat as "Grandfather"

— except for relatives who are not his grandfather.

It is known that Guy's aunt's name is Naomi.

Which of the following is true?

(1) Guy addresses his grandmother Naomi as "Aunt."
(2) Guy addresses his mother Naomi as "Mother."

(3) Guy addresses his teacher Naomi as "Naomi."
(4) Guy addresses his aunt Naomi as "Naomi."
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Reading Comprehension (Questions 15-20)

Read the text below carefully, and answer the questions that follow.

)

&)

Polygraph (lie detector) testing is used regularly in police investigations, even though it is not
admissible in a court of law. The person being tested is asked a series of questions, some of them
pertaining to the crime he is suspected of committing, and some of them neutral. As he answers the
questions, various physiological indicators in his body are measured, such as respiratory rate, heart rate,
blood pressure and level of skin conductivity. Polygraph testing is based on the assumption that certain
psychological states are accompanied by automatic physiological responses, and that telling a lie is a
state that produces more intense physiological responses than the responses characteristic of telling the
truth. Theories explaining this difference in physiological response are divided into two schools: one
emphasizes emotional factors, while the other stresses cognitive factors (factors connected to the

(10)  processing of information from the environment and factors connected to thought processes).

The psychologist Davis describes two theories associated with the first school of thought: the
threat-of-punishment theory and the conflict theory. According to the threat-of-punishment theory, a
subject's heightened physiological response to questions about information that he is trying to hide
stems from the fear aroused in him that the lie might be discovered, and as a result he will be punished.

(15)  According to the conflict theory, these questions produce a psychological conflict between the subject's
desire to tell the truth and his desire to lie, and it is this conflict which causes the increase in
physiological responsiveness. While these theories provide a satisfactory explanation for the
polygraph's capacity to detect the truth in police investigations, the findings of laboratory studies
conducted in recent years contradict these theories.
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(20)

(25)

(30)

(35)

(40)

(45)

In the laboratory studies, the subject is asked to select a playing card and remember its number.
He is then asked a series of questions that have a fixed wording: "Is x the number of the card that you
selected?" The subject is asked to answer all of the questions in the negative, including the question
specifying the number of the card he selected, and in this way to attempt to conceal his choice from the
polygraph. The polygraph machine indicates which question registered the strongest physiological
responses, thus "guessing" which card was selected. A study examining the threat-of-punishment
theory tested two groups of newly recruited policemen. One group was told that the purpose of the
testing was to examine their degree of self-control, and should they fail, they would be unable to
continue serving in the police force. The other group was told that the purpose of the testing was to
examine the effectiveness of the polygraph machine. The results of the study showed that there was no
difference between the two groups in terms of the percentage of subjects for whom the selected card
was revealed by the machine. In a different study, which examined the conflict theory, one group of
subjects was asked to answer all questions in the negative, while the other group of subjects was asked
to answer all questions truthfully (in other words, to answer the question that specifies the number of
the selected card in the affirmative, and to answer all the rest in the negative). In this study as well,
there were no differences in detection rates between the two groups.

The above studies refute the threat-of-punishment theory and the conflict theory, respectively. As a
result, some researchers have turned to cognitive explanations. According to the cognitive school, the
increase in physiological responsiveness is related to a general phenomenon called the "orientation
response” — an automatic physiological response to any stimulus in the environment that is of
significance to an individual. This phenomenon provided an evolutionary advantage to animals in
situations of danger, where they had to react swiftly; however, the response is triggered by any stimulus
that is of significance, even if it does not indicate danger. According to the cognitive explanation,
subjects in the laboratory studies displayed a heightened response specifically to the question about the
card they had selected because the familiar number was a stimulus of significance to them, unlike the
other numbers, which were neutral.
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Questions

15. Inline 8, "this difference" is the difference between -

)]
2

3)
“

physiological responses during a polygraph test and physiological responses not during a
polygraph test

psychological states that are accompanied by heightened physiological responses and
psychological states not accompanied by such responses

automatic physiological responses and non-automatic physiological responses

physiological responses when telling a lie and physiological responses when telling the truth

16. Joe committed a crime. During his interrogation by means of a polygraph test, he claims that he is
innocent and denies any connection to the crime. According to the explanation in lines 1-10, what is
the test expected to show?

ey
(@)
3)

)

Joe's physiological responses throughout the test will be stronger than the responses of others who
are innocent.

Joe will have stronger physiological responses to questions about the crime than to questions that
are neutral.

Some of Joe's physiological responses to questions about the crime will be very strong and some
will be very weak.

Joe's physiological indicators that are measured throughout the test will correlate with emotional
and cognitive indicators that reflect the psychological state associated with telling a lie.

17.  Which is the factor whose effect on physiological responses was tested in the experiment described in
lines 31-35?

)]
(@)
3)
“)

the difficulty of answering questions in the negative

the need to give identical answers to all of the questions
fear of the question about the number of the selected card
the psychological conflict that exists when telling a lie

English Pyccknit Portugués Deutsch Italiano
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18.

According to the cognitive explanation found in lines 37-45, which of the following statements is true?

ey
2
3

“)

When a person is exposed to a stimulus that is of significance, his physiological response is weaker
than when he is exposed to a stimulus of no significance.

The heightening of physiological responses during a polygraph test is due to the fact that subjects
are required to respond quickly to all of the questions.

Subjects' physiological responses are heightened during a polygraph test because they feel they are
in danger.

The physiological response of subjects taking a polygraph test to the question referring to the
number of the card they selected is an orientation response.

19.

Proponents of the cognitive explanation are of the opinion that changes should be made in the way
questions are presented in the polygraph test. Instead of asking direct questions, such as "Did you steal
the car?" questions that indicate knowledge of the crime that was committed, such as "Was the stolen
car red?" should be asked. According to the theory, only the guilty party will exhibit a difference in the
physiological responses to hearing the color of the stolen car and the physiological responses to hearing
other colors. Why?

)]
2
3

“)

Because the color of the stolen car is a significant stimulus for the guilty party, whereas for
innocent people, all colors are neutral.

Because the guilty party will be unable to control his physiological responses when hearing the
different colors, whereas innocent people will be able to control their responses.

Because the guilty party will have heightened physiological responses from the very first question,
whereas the heightening of physiological responses among innocent people will be more gradual.
Because for the guilty party, the question will arouse fear of punishment if he is caught, and for
innocent people it will not.
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20. The following laboratory study was conducted: Subjects selected a playing card and memorized the
number on it. They were then connected to a polygraph machine and asked a series of questions about
the number on the card they had selected. Subjects were divided into two groups. The subjects in one
group were asked to answer all questions in the negative, while the subjects in the second group were
asked not to answer any of the questions, but merely to listen to them silently. Results showed identical
detection rates in both groups.

Which of the following statements is true?

(1) The study results support the explanation provided by the threat-of-punishment theory.
(2) The study results support the explanation provided by the conflict theory.

(3) The study results support the explanation provided by the cognitive school.

(4) The study results contradict all three explanations.

English Pycckuit Portugués Deutsch Italiano
. . . ripeterono,
memorized BBIY YN memorizaram merkten sich .
memorizzarono
rates IPOLEHT taxas Rate, Grad tassi

1935 NN VAPHY 1Y 97D DX 1290 HN
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Section 6: Quantitative Reasoning

This section contains 20 questions.
The time allotted is 20 minutes.

This section consists of questions and problems involving Quantitative Reasoning. Each question is followed by four
possible responses. Choose the correct answer and mark its number in the appropriate place on the answer sheet.

Note: The words appearing against a gray background are translated into several languages at the bottom of each page.

General Comments about the Quantitative Reasoning Section

* The figures accompanying some of the problems are provided to help solve the problems, but are not necessarily drawn
to scale. Therefore, do not rely on the figures alone to deduce line length, angle size, and so forth.

* If aline in a figure appears to be straight, you may assume that it is in fact a straight line.

* When a geometric term (side, radius, area, volume, etc.) appears in a problem, it refers to a term whose value is greater

than 0, unless stated otherwise.

* When va (a > 0) appears in a problem, it refers to the positive root of a.

* "0" is neither a positive nor a negative number.
* "0" is an even number.
* "1" is not a prime number.

Formulas

1. Percentages: a% of X is equal to % X

2. Exponents: For every a that does not equal 0, and for
any two integers n and m -

1

a. a= -
b am +n — am . an
n

c. am=("a) (0<a,0<m)
d a"™m- (an)m

3. Contracted Multiplication Formulas:
(a+b)’=a’+2ab + b’
(@a+b)a-b)=a%-b?

distance

4. Distance Problems: = speed (rate)

5. Work Problems: amount of work

time = output (rate)

6. Factorials: n!=n(n-1)(n-2)-...-2

7. Proportions: If AD||BEI|ICF

AB_BC , , AB _DE

then 5F = F¢ and 55 =pF

8. Triangles:

a. The area of a triangle with base of
length a and altitude to the base of
length h is aTh

b. Pythagorean Theorem:

In any right triangle ABC, as in the
figure, the following always holds
true: AC?=AB? + BC?

c. In any right triangle whose angles measure

30°, 60°, 90°, the length of the leg opposite
the 30° angle is equal to half the length of

the hypotenuse.
b
[ ]

-1
A D
B E
C E
a
A
&,
1 00’%
eg s,
B C
leg

9. The area of a rectangle of length a
and widthbisa-b

10.

11.

12.

13.

14.

15.

16.

The area of a trapezoid with one
base length a, the other base length b,
and altitude h is %

AR

«~a—>

The sum of the internal angles of an n-sided
polygon is (180n — 360) degrees. In a regular
n-sided polygon, each internal angle measures

(M) = (180 — 3‘%0> degrees.

Circle:
a. The area of a circle with radius r
ismrl(m=3.14...)

b. The circumference of a circle is 2mr

c. The area of a sector of a circle with a
o0 2 X
central angle of X° is 7r 360

Box (Rectangular Prism), Cube:
a. The volume of a box of length a,
width b and heightcisa-b-c a
b. The surface area of the box is
2ab + 2bc + 2ac

c. Inacube,a=b=c

Cylinder:

a. The lateral surface area of a cylinder with —3
base radius r and height h is 27tr - h

b. The surface area of the cylinder is
21r? + 27r - h = 27r(r + h)

c. The volume of the cylinder is 7tr 2. h

<« 55—

The volume of a cone with base radius r
nr-h
3
The volume of a pyramid with base a8

area S and height h is %

and height h is
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Questions and Problems (Questions 1-9)

1. The accompanying figure shows 5 points that are the vertices of a regular pentagon.
If we connect every point by a straight line to every other point,

how many different lines will we obtain?

() 10 ¢ ¢
2) 12
(3) 14 . .
4 16
2. a is an integer greater than 1.
Which of the following numbers is less than 0 ?
(1) l-al
2) (1-a)y
(3) a-a’
@ (-2)(1-a)
3. In the accompanying figure, ABC is a right isosceles triangle.
BC is a diameter of the circle. A
length of arc shown in bold 0
circumference of circle '
L B IC
(1) 5
1
@
1
3 -
1
“ 5
English Pycckuit Portugués Deutsch Italiano
vertices BEPIIUHbI vértices Ecken vertici
PABUIBHBIN . regelmifiges pentagono
regular pentagon NSTAYTOTBHAK pentdgono regular Fiinfeck regolare
integer L[EJI0€ YUCIIO ndmero inteiro ganza Zahl numero intero
right isosceles TIPAMOYTOMIBHAIH triangulo retangulo rechtwmkhgqs triangolo isoscele
¢ paBHOOEPEHHBIN . gleichschenkliges
triangle isésceles . retto
TPEYTONbHUK Dreieck
diameter RuamMeTp diametro Durchmesser diametro
arc in bold BBIJIEJIEHHAS IyTa arco em negrito des hervorgehobenen | arco in neretto,
Kreisbogens evidenziata
circumference IUHA (OKPY)KHOCTH) | perimetro Umfang circonferenza
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7 robbers found a treasure of 40 gold coins. The first robber divided the coins among the robbers as
follows: He gave a coin to himself, a coin to the second robber, a coin to the third robber, and so on.
After giving a coin to the last robber, he repeated the procedure, until no coins were left.

How many of the robbers received fewer coins than the first robber?

1
2 2
3 3
“ 0

Dan travels 100 kilometers at an average speed of 75 kilometers per hour.

How many minutes does the trip take?

1 25
(2) 50
(3) 80
4) 100

The accompanying figure shows parallelogram ABCD and square CEFD.

Based on this information and the information in the figure, A
<ADF =? 46°
D ? F
1) 134°
ey B
(2) 136°
(3) 138° C E
(4) Itis impossible to determine from the information given.
English Pycckmii Portugués Deutsch Italiano
average cpenHee média Durchschnitt media
parallelogram napa’suiensorpamMm paralelogramo Parallelogramm parallelogramma
square KBajipaT quadrado Quadrat quadrato
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DINMN X9 DY NYTY IWAN-IN (4)
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8. A and B are different positive integers between 1 and 9.
It is known that A, B and (A + B) are prime numbers. It is also known that the two-digit number
AB is a prime number.

A-B=?

(1 6
2) 10
3) 15
) 25

9. 4 semicircles with a radius of 2 cm lie on line AB. Lines CD and EF are tangent to the semicircles,
such that CEFD is a rectangle (see figure).

The shaded area = ?

NN
LN N

() 4@2-m)cm?
(2) 8(8-m)cm?
(3) 16(2 — ) cm?
4) 8(4-m)cm?

English Pycckuit Portugués Deutsch Italiano
prime numbers IPOCTBIE YACIA nimeros primos | Primzahlen numeri primi

. ndimero de dois S numero a due
two-digit number | IBy3HaUHOE YHMCIIO oy zweistellige Zahl .

digitos cifre

semicircles HOJYKPYrd semicirculos Halbkreise semicerchi
radius paguyc raio Halbmesser raggio
tangent KacaeTcs tangentes beriihren sono tangenti

area MJI0IAAb area Fliache zona, area




(N5SE-7QU2877W) 225 -

9-51 pa mw M 0w DY 0»apn oaon on By A .8
SN X0 AB >m190-370 990010 00 1T 12 00 .D»NUNI D900 0n (A + B)-y B Ao v

A-B=?

6 (1
10 (2
15 (3
25 @

CEFD-v 72 o%ynn »nsno opwn EF-1 CD oavwin AB v Sy oonan 10 2 DovTIv D9vn ONsn 4 9
(DIID NI 120N

nnoN nown = ?

A / \ / \ B 0 42 -m) (1)
E \ / \ / = "o 8(8 —1) (2)

Yo 16(2 -1) (3)
00 8(4—-m) (4)

Magyar Nederlands R"ICT 93y
torzsszamok priemgetal NFEL eTCT D»NYNI DI9DN
kétjegyl szam tweeledig getal aA2 857 +®7TC YI9D-1T 1901
felkorok halve cirkels 1.0 0eF D*3y10 ONSN
radiusz, sugar straal, radius VX VT
érintkezik raken Jnn. (fo.70n) DPwN
teriilet vlakken nJ (aAd) nowY

20 0N to the next page Xan TMY5 15°wNH #



- 226 -

(N5SE-7QU2877W)

Table Comprehension (Questions 10-13)

The table below is followed by four questions. Study the table and then answer the questions.

The table below depicts the funding of 5 projects by several government ministries. Each ministry spends a
certain percentage of its budget on the funding of various projects. Each project is funded by one or more

ministries.

For example, Project A is funded by the Ministry of Defense, which spends 2% of its budget on funding the
project, and by the Ministry of Finance, which spends 4% of its budget on funding the project.

Project

B C D E
Ministry
of Defense 4%
Ministry
of Health 1% 10% 1%
Ministry 1% 5% 5%
of Finance
Ministry
of Education 12% 2%
Ministry
of Industry 3% 1%

Note: In answering each question, disregard the information appearing in the other questions.

Questions

10.  The budget of the Ministry of Defense is 1,000 zuzim. It is known that the Ministry of Defense
invested 10 zuzim more in Project A than did the Ministry of Finance.

What is the budget of the Ministry of Finance (in zuzim)?

(1) 150

(2) 200

(3) 250

(4) 500
English Pycckmnii Portugués Deutsch Italiano
funding (buHaHCHpOBaHNE financiamento Finanzierung il finanziamento
budget OIOIKET or¢amento Etat bilancio
invested BIIOXKHIT investiu investiert hat ha investito
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11.

The Ministry of Health spent 90 zuzim more on funding Project D than on funding Project B.

What is the budget of the Ministry of Health (in zuzim)?

(1) 900
(2) 1,000
(3) 1,100
4) 1,200

12.

The budget of the Ministry of Health is X zuzim (0 < X), that of the Ministry of Finance is 2X zuzim,
and that of the Ministry of Education is 3X zuzim. Project B is funded solely by these three ministries.

How many zuzim did Project B cost?

(1) 0.06x
) 0.1x
(3) 0.24x
4) 0.39x

13.

It is known that each ministry that invested in Project C invested the same amount of money in the
project.

budget of the Ministry of Finance _

budget of the Ministry of Defense

m 2
@ 3
3 =

(4) Itis impossible to determine from the information given.
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Questions and Problems (Questions 14-20)

14. The average age of four brothers is 38. The three older brothers were born two years apart from each
other. The fourth (youngest) brother is 6 years younger than the third brother.

How old (in years) is the youngest brother?

(1) 28
(2) 30
3) 32
4 36

15.  The accompanying figure shows square ABCD with sides of length a.
E and F are the midpoints of sides BC and CD, respectively. AG LEF.

AG=? A,_JL
[-]
__a F
(1) av2 57 a \ .
. 7
Q) av2 -2 B 5]
V3 B ETC
(3) a+aVv3 2
(4) a+av2

16. Eli is preparing a salad using fresh fruit and canned fruit. The fresh fruit in the salad weighs twice as
much as the canned fruit in the salad.
Apples make up % of the weight of the fresh fruit. By contrast, apples make up % of the weight of

the canned fruit.

What proportion of the total weight of the fruit salad is made up of apples?

)]

1
3
13
2) 35
S5

G 3
10
@ 7
English Pycckuit Portugués Deutsch Italiano

canned KOHCEPBUPOBAHHbBIE em conserva Konserven inscatolato
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17. Given: @’ =15,235
@ -a*+al-a+D@+1) =2
(1) 15,236
(2) 15,235
(3) 15,234
(4) Itisimpossible to determine from the information given.

18. If Ron gives Mary 3 stamps, she will have twice as many stamps as he will. It is known that the two of
them now have the same number of stamps. How many stamps does Mary have now?
1 9
2 6
3) 3
(4) Itis impossible to know from the information given.

19.  The accompanying figure shows trapezoid ABCD. E is the midpoint of side BC.
What is the area of the shaded triangle?

y
1 6
@ 5%
2 A(0,2) D (6,1)
3) 35 >
1 B E C
@) 45
English Pycckui Portugués Deutsch Italiano

trapezoid Tpaneyyst trapezdide Trapezoid trapezoide
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20. For every positive integer X, the operation $ is defined as follows:
$(x) = (the sum of the digits of x)
For example: $(59)=5+9 =14
a and b are two-digit positive integers.

$(100-a+b)="?

(1) $(a)+ $(b)

(2) 100-$@+b)
3) $@ +$Mb)+1
(4) 100 - $(a) + $(b)

English Pycckuit Portugués Deutsch Italiano

sum CyMMa soma Summe somima

digits g pbI algarismos Ziffern cifre, numeri
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Practice Test

section 1 770

question
1/2|3|4|5]|6
number

12|13( 14|15
correct

16|17 (18|19 |20
4 1[4 |1 3| 4
answer

SECTION 2 j71o

question
1/2|3|4|5|6|7|8|9|10/11|12|13|14|15|16|17|18|19]|20
number
correct
412|312 1 2 1 3| 4 1 214 |3| 2 1 4|1 2| 2 1 1
answer

SECTION 3 {71®

question
1/2[(3|4|5]|6
number

7|8 |9(10(11(12(13|14 (15|16 |17
correct

18 (19|20 | 21 | 22
1 1 212 (2] 2
answer

secTion 4 710

question
1/2[(3|4|5]|6
number

13(14(15(16 (17 |18
correct
4 | 3|4 | 2| 4 1
answer

19 (20| 21|22

secTion B 710

question
1/2(3|4|5]|6
number

13(14(15(16 (17 | 18
correct

19|20
213|132 |4]1
answer

secTion 6 710

question
1/2(3|4|5]|6
number

12(13(14 (15|16 |17 |18
correct

19|20
1 3141 |2]3]|2
answer
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CALCULATING ESTIMATES OF YOUR SCORES ON
PRACTICE TEST PN5E

Below is an explanation and an example of how to estimate your scores in each of the three
test domains — Verbal Reasoning, Quantitative Reasoning, and English — as well as how
to estimate your total test scores, which are based on your scores in these three domains.

CALCULATING YOUR RAW SCORES ON THE MULTIPLE CHOICE SECTIONS

Each correct answer is worth one point. To calculate your raw score in each test domain, add up the
total number of points you obtained in the two sections in that domain. This process will yield three
raw scores: a raw score in Verbal Reasoning, a raw score in Quantitative Reasoning, and a raw score in
English.

CALCULATING YOUR STANDARDIZED SCORES

Each raw score is then converted to a standardized score, that is, a score that is not
affected by the particular test version, language or date. You can find your standardized
scores on the Table for Converting Raw Scores to Standardized Scores shown below.

At the end of this stage, you will obtain estimates of your standardized scores in the three test
domains (on a scale ranging from 50 to 150):

a Verbal Reasoning score (V), a Quantitative Reasoning score (Q), and an English score (E)

TABLE FOR CONVERTING RAW SCORES TO STANDARDIZED SCORES IN EACH TEST DOMAIN

Standardized Score Standardized Score Standardized Score
Raw | yiorbal Quanti- | English Raw | yiorbal Quanti- | English Raw | yiorbal Quanti- |English
Score tative Score tative Score tative
(V) ((8)] (E) (V) Q@ (E) V) Q@ (E)
0 50 50 50 16 84 91 78 32 126 131 117
1 51 52 51 17 87 93 80 33 129 133 120
2 53 55 52 18 89 96 82 34 132 136 122
3 54 58 54 19 91 99 85 35 134 138 124
4 56 60 55 20 94 101 88 36 137 140 127
5 57 63 57 21 96 103 90 37 140 142 130
6 59 66 58 22 99 106 92 38 143 144 132
7 61 69 59 23 101 109 95 39 146 147 135
8 63 71 61 24 104 11 98 40 150 150 138
9 65 73 63 25 107 113 100 41 141
10 68 76 65 26 109 116 102 42 144
11 71 79 67 27 112 119 104 43 147
12 73 81 69 28 115 121 107 44 150
13 76 83 71 29 117 123 110
14 78 86 73 30 120 126 112
15 81 89 75 31 123 129 114

The score on the writing assignment constitutes 25% of your Verbal Reasoning score. Since it is not
possible, at present, to calculate an estimate of the writing assignment score, the estimates of your
total scores, below, are based on the assumption that the level of ability demonstrated in the writing
assignment is similar to that demonstrated in the multiple-choice sections of the Verbal Reasoning
domain. At some future time, a method for estimating your score on the writing assignment may
become available on NITE's website.
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ESTIMATING YOUR GENERAL SCORES
In order to estimate your total scores, first calculate your weighted scores.
= Multi-Domain General Score: The scores in the Verbal and Quantitative Reasoning domains

receive twice the weight of the English domain score. The calculation for the weighted Multi-

Domain score is % .

= Humanities-Oriented General Score: The weight of the score in the Verbal Reasoning domain is

three times the weight of the other scores. The calculation for the weighted Humanities-Oriented

score 1S %

m Sciences-Oriented General Score: The weight of the score in the Quantitative Reasoning domain
is three times the weight of the other scores. The calculation for the weighted Sciences-Oriented

score is % .

In order to estimate your scores, refer to the following table which converts weighted scores to total
scores. The table is arranged according to ranges of scores.

TABLE FOR CONVERTING WEIGHTED SCORE TO ESTIMATE OF GENERAL SCORE

Weighted Estimate of General Weighted Estimate of General
Score Score Score Score
50 200 101-105 504-531
51-55 221-248 106-110 532-559
56-60 249-276 111-115 560-587
61-65 277-304 116-120 588-616
66-70 305-333 121 -125 617-644
71-75 334-361 126-130 645-672
76-80 362-389 131-135 673-701
81-85 390-418 136-140 702-729
86-90 419-446 141-145 730-761
91-95 447-474 146-149 762-795
96-100 475-503 150 800

EXAMPLE OF HOW TO CALCULATE AN ESTIMATE

m  The weighted Multi-Domain General Score is:

OF YOUR SCORE (2:112)+(2-100+107 _ |5

. . 5 -
Assume that your raw scores in the test domains This weighted score is found in the above table in the
are as follows: 106-110 range, and the corresponding total score is
27 correct answers in Verbal Reasoning (total of in the 532-559 range.

the two sections);

20 correct answers in Quantitative Reasoning m  The weighted Humanities-Oriented General Score

. 3-112)+ 1014107 _

(total of the two sections); 3 109
28 correct answers in English (total of the two This weighted score is found in the above table in the
sections). 106-110 range, and the corresponding total score is

Based on the table found on the previous page: in the 532-559 range.
The estimate of your standardized score in Verbal
Reasoning is V =112

B The weighted Sciences-Oriented General Score is:
(3-101)+112+107 _

The estimate of your standardized score in 3 104

Quantitative Reasoning is Q = 101 This weighted score falls in the above table in the
The estimate of your standardized score in English 101-105 range, and the corresponding general score
is E =107 falls in the 504-531 range.

The calculation of your weighted scores is shown
in the box to the right.



Guide For Examinees m Inter-University Psychometric Entrance Test

CONVERTING YOUR SCORE INTO PERCENTAGES

The table for converting ranges of scores into percentages, which appears below, helps you understand
the significance of the scores you obtained. The table is divided into 17 categories, each containing
arange of scores. The percentage of examinees whose score is below, within and above the range is
given for each range. For example, a general score of 518, falls in the 500-524 range, and this means
that approximately 40% of examinees scored below this range, approximately 7% scored within this
range, and approximately 53% scored above this range.

The division into categories is solely for illustrative purposes, and does not reflect the admissions policy
of any institution. The conversion of the scores into percentages is based on the entire population of
Psychometric Test examinees in recent years.

TABLE FOR CONVERTING RANGES OF SCORES INTO PERCENTAGES

Percentage of Examinees Whose Score Falls
Score Range
Below the Within the Above the
Range Range Range

200 - 349 6 94
350 - 374 4 90
375 - 399 10 5 85
400 - 424 15 5 80
425 - 449 20 6 74
450 - 474 26 7 67
475 - 499 33 7 60
500 - 524 40 7 53
525 - 549 47 7 46
550 - 574 54 7 39
575 - 599 61 7 32
600 - 624 68 8 24
625 - 649 76 7 17
650 - 674 83 6 11
675 - 699 89 5 6
700 - 724 94 3

725 - 800 97 3




TS SO S . oo e e



